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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(2) Marks are indicated on right side.
(8) Use of simple calculator is allowed.

1 (a) If the demand function of a commodity is p = 15-5x2 5
for what value of x the elasticity of demand will be
unity ?

) B A-R
(b) In usual notations prove that 1 —m 5
. 2 . .

(¢) For the demand function x = m , find the elasticity 5
of demand at p=4.

(d) If the demand function is p = 75—0-01362, find the 5
demand for maximum revenue. Also find the maximum
revenue.

OR

1 Write short notes : 20

(1) Market equilibrium

(2) Demand and supply curves

(3) Monopoly

(4) Revenue functions.

2 (a) Find market equilibrium price and quantity. 5
Demand Function : (x+10)(p+ 20) =300
Supply function : x=2p—38

(b) Find the price elasticity of supply from the following 5
data :

Price | 4 | 5
Supply | 24 | 45
(¢) If the cost function for producing x units is 5
2
C=450—6x+% , find the minimum cost.

(d) The following are demand and cost functions of a 5
commodity for a monopolist.
x=T75-3p
C =100 + 3x. Find the maximum profit.

OR
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2 (a) Explain : Monopoly and production of two commodities. 10
(b) Explain : Price elasticity of demand and price 10
elasticity of cost function.
3 (a) State Euler's theorem for homogeneous production 5
function and verify it for Z = 1/_ J_
(b) If f(x ):3x +4xy+3y , prove that 5
af of
x—+y=—=21f(x, y).
ox 7 dy /()
(¢c) State properties of production function. 5
OR
3 The following 1s a technical coefficient matrix of three 15

industries I, II and III respectively.

0.20 0.10 0.10

A=[0.10 0.30 0.20

0.10 0.10 0.40

If the final demands for three industries are respectively
33, 8 and 16, find the total production of three industries
I, II and III.

4 (a)

(b)

(b)

U =xy+2x is the utility function of a consumer. If 10

the consumer's income 1s 60 rupees and the prices of
the two commodities are respectively 4 rupees and
2 rupees, find quantities of x and y which maximize

utility function subject to the budget restriction.
Explain : Lagrange's Multiplier Method for maximum 5
utility.

OR

I 1
If the production function Z =5—-——— and per unit 10

Xy
value of x, y and z are 1, 4 and 9 respectively, find

the maximum profit.

If Z=f(x,y) is a homogeneous production function 5

. z 0z
with nth degree then prove that x—+ y—=nz.
ox dy
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